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REVIEW FOR UNIT 8 TEST

1. The roots of the equation 2x? ~8x =0 are &7‘( a__ &\( had O

(1)-2 and 2 (3) 0and -4

(2) 0,—~2 and 2 Oand4 & ( X#qs‘:o

Rk
. . i AU
2. The solutions of the equation x> =100 are —'?é} %
K=

(1) —50 and 50 : 0 and 10

(2) -25 and 25 @) -5 and —5 Wl-, lO D

- 2V
3. What is the solution of x* +64 =0

o XOVRE
(2) 8 10 solutions

4, What is the solution set of the equation{x - 2){x - &) = 0?2

1) 2anda X':Q XL’Q

-2 and -a

and g

2 and -a

5. How many real solutions does the equation x* +4x+1=0

(Ho
)1 (4) 3

6. What is the nature of the roots of 6x* —=3x—12=0 A
1} real, rational, and equal

2) real, rational, and unequal

real, irrational, and unequal <___...-——-———-"’"?

4) imaginary \
~
7. The x-mtercepts of x? = 16x 28 a1e
Abey)6 -1
-2 and -14 a O
and 14 X “\(_O\(- '\‘&%,

5 4 and 7 % M(x &

4) 4and7 X«M \



8. What is the nature of the roots of f(x)=x"+2x+1

@'eal, rational, and equal

2) real, rational, and unequal

3) real, irrational, and unequal

4) imaginary

9. Ifthe roots of a quadratic equation are -2 and 3, the equation can be written as

Gc~2)(x+3)=0
%+ 2)(x-3)=0
3) GE+DE+3)=0
4y (x-2)x-3)=0

10. Which value of ¢ will make the roots of the equation x% ~8x+¢ =0 real and equal?

) -16 3) 0 & e __"
2) 4 @6 )

11. Which expression has -5 and 3 as its roots?

ﬁ,)/x2+2x+15=0 @,x2—2x+15=0

x2 +2x—-15=0
) |x-2). -0 |
=951 x=3 :

12. The graph f(x) is shown to the right. The roots of the function are
1) {2,4,5}

=

2y {-5,-4,-2} H,H G
3) {-5,0,4}
®{'5>“2:4}

W v
[3. Which expression gives the solutions of -5+ 2x* = —6x %
+ .4 - — - —
(1) x = 22 ECS) @x _ 6363

12 4

@) x= —5%4/25-(4)(2)(6) @ x= 6£4/36—(D(2)(5)

~10 4

: 23, . _
S ig:‘: g X= ()£ oY 4(E(D)
F&X?"\'(Q -0 2 &)




14. The method of completing the square was used to solve the equation 2x° ~ 12x+6= E_ Which equation is a correct step

when using this method? a “.5: ﬁ A
(D)9 X2 ow+3=0
2) (x-3°=-6 — =3 -3
3 -3 = X% oy + [\ <
A (-3 =3 ()(,,gp)?, =
15. The solution set of X+ = % is (X 56)(¥ "E?) :\20
i XH-2 A Ok T = XD
) {=7,-5) (:}13 -0 -ab6
2 {7,-5) 2 {7,5) x>+ 2% -307 0O
| (xxTYx~93=0
16. The roots of the equation 2x° +7x—3=0 are X="71 X= 5
1) ! 2) 1
-3 and —3 3 and3 a\(g‘)'r’\('&': O
@ 7+ 73 4 7xd73 X=-"1 L’?z—l-i(gj{_.ﬁ.:}
3 7 8 §=))

17. Put in simplest radical form

~5+10/35 |4
2EIONIY - 2,
5 s 285 3 s 4t yva - |18
T ¥ =
18. Describe the roots for each quadratic function.

s pEs-2x-3 ’ ¥ Yy

T ! i
. |
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19. The product of two consecutive negative EVEN mtegers is 168. What are the integers?

\eger O @) JG):

X =13+ CEL Yiay = (0%
Y19 = ord cen % — 8
et e
x2yan - Wx=0

(xr I8y O
=)
X Reject

20. The length of a rectangle is six more than the width. If the area is twenty-one, what are the dimensions of the rectangle,

to the nearest tenth? (Use completing the square) _ 2
X(XHo) =2 %3
X240 ¥ = QN
Y3+ oy + 32| - 21 + 33
‘lee: X“ fd% ‘ (k+2)Y%+3) = 30
L Y =\30
3(,\'% < -—\FE;D
-4 -4
- -2+V320

hf),o 7( = %~ 120 ]
& ﬁa\};{@\“
21. A ball is thrown into the air with an injtial pwa1 Vel 60 ft/s. Its helght 7in feet after f seconds is given by the

functionz = —16¢* + 60t + 6. After how many seconds will the ball hit the ground? Round to the nearest tenth of a

second. o\l it vk He around  woyen
" g h=0.
0= (W0 0= -1 +e0Ok o

(=L Le-b GRS
Lo (L0) £ W( 2D
2o

=" L0 1\ 3a84

. -32
Reer - o
¥ —ec -




